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Baldrame - Armadura negativa principal

1
4

1
1
5

1
4

 (449)

4
6

N
1

Ø
 
6
.
3

C
/
1
0

C
=
1
4
3

1
4

2
3
2

1
4

 (126)

1
3

N
4

Ø
 
6
.
3

C
/
1
0

C
=
2
6
0

1
4

2
1
2

1
4

 (146)

1
5

N
3

Ø
 
6
.
3

C
/
1
0

C
=
2
4
0

1X

Baldrame - Armadura negativa secundaria

COMPRIMENTO
TOTALUNIT

POS BIT QUANTAÇO

mm cm cm

Baldrame - Armadura negativa principal
     50A   1     6.3    50     192    9600
     50A   4     6.3     8     155    1240
     50A   6     6.3     8     300    2400

Baldrame - Armadura negativa secundaria
     50A   1     6.3    46     143    6578
     50A   3     6.3    15     240    3600
     50A   4     6.3    13     260    3380

COMPR PESOBITAÇO
RESUMO DE AÇO

mm m kgf
    268       66    6.3     50A

Peso Total        50A =       66 kgf


